EARAROBEEIERT — 2 N— IBISH —F

20165E3A6H (B) 1mEpR#4H

i z=is 1600AT ¥5%4®E (B&) [eEl N7 (i1 8 |esml — |2 ) oo &
[A&4] 1 % :18,200,000 2 #%:7,300,000 @ 3 3&:4,600,000 @ 4 7 :2,700,000 5 7 :1,820,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o - ANV oN :35. = . . BOEN (BR)
: 3| E=TrT A # 5 o 1(3_5)2 2-2 32.9(104.5| 4 (4_982) %Bﬂﬁﬁéﬂli
R:FFHRTFLDd B2y FHFE—Y HE77—»4L
= = # 5 | AAER— 1:35.2 1-1 32.9(104.5| 3 52 | &L= (RR)
2|8|8| 71 —TAXT 55.0 e o |EEHE
L:xF1=FGr—X B:LA4FTILY ppal=laz el
Y . 4t 7 | BKH— 1:35.3 5-4 32.7103.6 | 2 456 | EERRER (R®)
37|78/ b—> 57.0 (3/4) () | B /02
WFA—TANT b B L—2LT #Hazr—4
P, (19 A0  £F o4 | BERMEN 1:35.4 3-4 32.8102.3 | 1 490 | 4HEFANIR (RR)
4(89| 77> KENLT 57.0 7€) w2 | B TUST -
:xA21=Ty7—X B:I14 KNy HBITr—L
# 7 | F.oJyzA> 1:35.5 6-7 32.6101.4| 5 460 | FRERE (ER)
5 2 H+O7 55.0 (3/4) (-10) EFEANR-IT 12T X (#)
L:F=TANNT N B4 —-hT7 IR EEY -]
S o4 | EREX 1:35.6 9-2 33.3| 97.9 | 7 430 |BE E®R)
6 6 B—F7xV—-Fzx 54.0 (7€) (-12) | W) B—FK=-2957
LNn—ErTv— BiLTAFv—LA TATAT7—L
N # 5 | ERKR— 1:35.8 3-4 33.3 | 96.1 6 482 | BKAE (ER)
71515 HIN=X h—=1) — 56.0 (1 1/2) (+2) RIEEZ
LZATATvy— B:IVTLAX tE BE
AP # 7 | A Taslvy 1:35.9 6-7 33.1| 9.4 | 8 446 | MTRIEHE (EH)
Eﬂ 4| B—LILTLy b 54.0 o (o) | B B—LiL-yry
LY LTAN—t By —=— N B4%i%
2 3. 5 o6 | ENEE 1:36.1 6-7 33.2]| 9.1 9 496 | BEEH (FR)
9111 A4 F3Iv7H4 54.0 (1 1/4) (-4) ANIE
L:FLNTyTFItE B:RU—ZXL HFEEERS
@ 71 L
) 44.6-32.9
NA>Z2A LA | 12.9-12.3-12.6-12.8-11.7-10.6-10.7-11.6
@ 1—F—@&BIEf
13—7—
23—7F—
S=57= 8,3(9,5)7(1,2,4)-6
43— — (x8,3,6) (9,7,5) (1,2,4)
[ RN
B OB 3 800H 714K 3-8 600M e & 3-8 780M &R 3-7-8 1,860M
% B 8 210M 3-7 360M | | B = 3-8 2,210 | | 3EE 3-8-7 16,910
8 200M 7-8 310 B H 3-8 4,610
7 1204

ABICOVWTRDTEEERROODE. TR LIV,




